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@D 24a = 240m? @ 1300a = 1.3ha
@ 8km? = 80000 a @ 1.6km? = 1600a

® 47m? =470a



@ 3.6ha = 360m?2
® 240a = 0.024 km?

® 8km? = 8000000 a
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@ 300m? = 0.03a



® 0.21ha
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® 1.41km?
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@ 3t =3000kg @ 9000t = 9kg
® 2t =2000000g @ 0.6kg=600g

® 0.65t = 650 kg



12.

Wol7k 2ha ¢l AARY BeFo] ol HES 4
ool A&7} 250 meEtd, 7}E o] Aol ;Y

D S m

o

2
71

a



13.

80000kg ] B+ 5t Eg o=

B 9 o7t B agH] TS,

B e 2l

=

r

u
)

rlo



14.

ZF27F 800m, M Z7F 750m Q1 A}
&S §ol7F 10ha l To=2 L 3

B e ol



15. ohe AT =59 ol % an? YU




